Turk. J. Math. Comput. Sci.
15(1)(2023) 63-70
(c) MatDer

DOI : 10.47000/tjmcs. 1123369

# Hyper-Fibonacci and Hyper-Lucas Polynomials 

Efruz Özlem Mersin ©<br>Department of Mathematics, Faculty of Science and Arts, Aksaray University, 68100, Aksaray, Turkey.

Received: 30-05-2022 • Accepted: 08-05-2023
Abstract. In this paper, hyper-Fibonacci and hyper-Lucas polynomials are defined and some of their algebraic and combinatorial properties such as the recurrence relations, summation formulas, and generating functions are presented. In addition, some relationships between the hyper-Fibonacci and hyper-Lucas polynomials are given.

2010 AMS Classification: 11B37, 11B39
Keywords: Hyper-Fibonacci numbers, hyper-Lucas numbers, polynomials.

## 1. Introduction

The Fibonacci and Lucas number sequences, which are the most famous integer sequences, are defined by the formulas

$$
F_{n+1}=F_{n}+F_{n-1} \quad \text { with } \quad F_{0}=0, \quad F_{1}=1,
$$

and

$$
L_{n+1}=L_{n}+L_{n-1} \quad \text { with } \quad L_{0}=2, \quad L_{1}=1
$$

for $n \geq 1$ [12].
The Fibonacci and Lucas polynomials have attracted the attention of researchers as a generalization of the Fibonacci and Lucas number sequences $[2-5,9,11,13,14,16-19]$. The Fibonacci and Lucas polynomials were defined by Catalan and Bicknell with initial conditions $F_{0}(x)=0, F_{1}(x)=1, L_{0}(x)=2$ and $L_{1}(x)=x$, and for $n \geq 2$

$$
F_{n}(x)=x F_{n-1}(x)+F_{n-2}(x)
$$

and

$$
\begin{equation*}
L_{n}(x)=x L_{n-1}(x)+L_{n-2}(x) \tag{1.1}
\end{equation*}
$$

respectively, where $x$ is any variable quantity. The Fibonacci and Lucas polynomials give the Fibonacci and Lucas number sequences for $x=1$, respectively. Moreover, they can also be extended to negative subscripts as

$$
F_{-n}(x)=(-1)^{n-1} F_{n}(x) \quad \text { and } \quad L_{-n}(x)=(-1)^{n} L_{n}(x),
$$

such as the Fibonacci and Lucas number sequences [10,15]. Using the induction method, the following relationships can be obtained between the Fibonacci and Lucas polynomials:

$$
\begin{equation*}
x F_{n}(x)+L_{n}(x)=2 F_{n+1}(x) \tag{1.2}
\end{equation*}
$$

[^0]and
\[

$$
\begin{equation*}
x F_{n}(x)-L_{n}(x)=-2 F_{n-1}(x) . \tag{1.3}
\end{equation*}
$$

\]

The generating functions for the Fibonacci and Lucas polynomials are as follows, respectively [11, 13]:

$$
\sum_{n=0}^{\infty} F_{n}(x) t^{n}=\frac{t}{1-x t-t^{2}}
$$

and

$$
\sum_{n=0}^{\infty} L_{n}(x) t^{n}=\frac{2-x t}{1-x t-t^{2}}
$$

As another generalization of the Fibonacci and Lucas number sequences, we encounter hyper-Fibonacci and hyperLucas numbers. These numbers were defined by Dil and Mező [6], by the formulas

$$
F_{n}^{(r)}=\sum_{k=0}^{n} F_{k}^{(r-1)} \quad \text { with } \quad F_{n}^{(0)}=F_{n}, \quad F_{0}^{(r)}=0, \quad F_{1}^{(r)}=1
$$

and

$$
L_{n}^{(r)}=\sum_{k=0}^{n} L_{k}^{(r-1)} \quad \text { with } \quad L_{n}^{(0)}=L_{n}, \quad L_{0}^{(r)}=2, \quad L_{1}^{(r)}=2 r+1,
$$

where $r$ is positive integer, $F_{n}$ and $L_{n}$ are the ordinary Fibonacci and Lucas numbers, respectively. The authors presented the generating functions

$$
\begin{aligned}
& \sum_{n=0}^{\infty} F_{n}^{(r)} t^{n}=\frac{t}{\left(1-t-t^{2}\right)(1-t)^{r}}, \\
& \sum_{n=0}^{\infty} L_{n}^{(r)} t^{n}=\frac{2-t}{\left(1-t-t^{2}\right)(1-t)^{r}},
\end{aligned}
$$

and the following recurrence relations for $n \geq 1$ and $r \geq 1$

$$
\begin{gathered}
F_{n}^{(r)}=F_{n-1}^{(r)}+F_{n}^{(r-1)}, \\
L_{n}^{(r)}=L_{n-1}^{(r)}+L_{n}^{(r-1)}
\end{gathered}
$$

for the hyper-Fibonacci and hyper-Lucas numbers [6]. The relationship between hyper-Fibonacci and Fibonacci numbers

$$
F_{n}^{(r)}=\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} F_{s},
$$

and similarly the relationship between hyper-Lucas and Lucas numbers

$$
L_{n}^{(r)}=\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} L_{s}
$$

were obtained by Bahsi et al. [1].
The aim of this paper is to introduce hyper-Fibonacci and hyper-Lucas polynomials and to examine some algebraic and combinatoric properties of newly defined polynomials such as the recurrence relations, summation formulas and generating functions.

## 2. Main Results

Definition 2.1. Hyper-Fibonacci and hyper-Lucas polynomials are defined as

$$
F_{n}^{(r)}(x)=\sum_{s=0}^{n} F_{s}^{(r-1)}(x) \quad \text { with } \quad F_{n}^{(0)}(x)=F_{n}(x), \quad F_{0}^{(r)}(x)=0, \quad F_{1}^{(r)}(x)=1
$$

and

$$
L_{n}^{(r)}(x)=\sum_{s=0}^{n} L_{s}^{(r-1)}(x) \quad \text { with } \quad L_{n}^{(0)}(x)=L_{n}(x), \quad L_{0}^{(r)}(x)=2, \quad L_{1}^{(r)}(x)=x+2 r
$$

where $r$ is positive integer, $F_{n}(x)$ and $L_{n}(x)$ are the ordinary Fibonacci and Lucas polynomials, respectively.
The first few hyper-Fibonacci polynomials are

$$
\begin{aligned}
& F_{2}^{(1)}(x)=x+1, \\
& F_{3}^{(1)}(x)=x^{2}+x+2, \\
& F_{4}^{(1)}(x)=x^{3}+x^{2}+3 x+2, \\
& F_{5}^{(1)}(x)=x^{4}+x^{3}+4 x^{2}+3 x+3
\end{aligned}
$$

and

$$
\begin{aligned}
& F_{2}^{(2)}(x)=x+2, \\
& F_{3}^{(2)}(x)=x^{2}+2 x+4, \\
& F_{4}^{(2)}(x)=x^{3}+2 x^{2}+5 x+6 \\
& F_{5}^{(2)}(x)=x^{4}+2 x^{3}+6 x^{2}+8 x+9
\end{aligned}
$$

The first few hyper-Lucas polynomials are

$$
\begin{aligned}
& L_{2}^{(1)}(x)=x^{2}+x+4 \\
& L_{3}^{(1)}(x)=x^{3}+x^{2}+4 x+4 \\
& L_{4}^{(1)}(x)=x^{4}+x^{3}+5 x^{2}+4 x+6 \\
& L_{5}^{(1)}(x)=x^{5}+x^{4}+6 x^{3}+5 x^{2}+9 x+6
\end{aligned}
$$

and

$$
\begin{aligned}
& L_{2}^{(2)}(x)=x^{2}+2 x+8 \\
& L_{3}^{(2)}(x)=x^{3}+2 x^{2}+6 x+12 \\
& L_{4}^{(2)}(x)=x^{4}+2 x^{3}+7 x^{2}+10 x+18 \\
& L_{5}^{(2)}(x)=x^{5}+2 x^{4}+8 x^{3}+12 x^{2}+19 x+24
\end{aligned}
$$

We note that the hyper-Fibonacci and hyper-Lucas polynomials give the hyper-Fibonacci and hyper-Lucas numbers for $x=1$, respectively.
Definition 2.1 yields the following recurrence relations for the hyper-Fibonacci and hyper-Lucas polynomials for $n \geq 1$ and $r \geq 1$ :

$$
F_{n}^{(r)}(x)=F_{n-1}^{(r)}(x)+F_{n}^{(r-1)}(x),
$$

and

$$
L_{n}^{(r)}(x)=L_{n-1}^{(r)}(x)+L_{n}^{(r-1)}(x)
$$

Theorem 2.2. The generating function for the hyper-Fibonacci polynomials is

$$
g(r)=\sum_{n=0}^{\infty} F_{n}^{(r)}(x) t^{n}=\frac{F_{0}(x)+t\left(F_{1}(x)-F_{0}(x) x\right)}{\left(1-x t-t^{2}\right)(1-t)^{r}}=\frac{t}{\left(1-x t-t^{2}\right)(1-t)^{r}}
$$

Proof. We use the mathematical induction method on $r$. Since

$$
g(0)=\sum_{n=0}^{\infty} F_{n}^{(0)}(x) t^{n}=\sum_{n=0}^{\infty} F_{n}(x) t^{n}=\frac{t}{1-x t-t^{2}},
$$

the result is true for $r=0$. Suppose that the result is true for $r$. Then, we have

$$
g(r)=\sum_{n=0}^{\infty} F_{n}^{(r)}(x) t^{n}=\frac{t}{\left(1-x t-t^{2}\right)(1-t)^{r}}
$$

Now, we must show that the result is true for $r+1$. Considering the Cauchy product, we have

$$
\begin{aligned}
g(r+1) & =\sum_{n=0}^{\infty} F_{n}^{(r+1)}(x) t^{n} \\
& =\sum_{n=0}^{\infty}\left(\sum_{s=0}^{n} F_{s}^{(r)}(x)\right) t^{n} \\
& =\left(\sum_{i=0}^{\infty} F_{i}^{(r)}(x) t^{i}\right)\left(\sum_{j=0}^{\infty} t^{j}\right) \\
& =\frac{t}{\left(1-x t-t^{2}\right)(1-t)^{r+1}} .
\end{aligned}
$$

Theorem 2.3. The generating function for the hyper-Lucas polynomials is

$$
G(r)=\sum_{n=0}^{\infty} L_{n}^{(r)}(x) t^{n}=\frac{L_{0}(x)+t\left(L_{1}(x)-L_{0}(x) x\right)}{\left(1-x t-t^{2}\right)(1-t)^{r}}=\frac{2-x t}{\left(1-x t-t^{2}\right)(1-t)^{r}}
$$

Proof. We use the induction method on $r$. If $r=0$, then we have

$$
G(0)=\sum_{n=0}^{\infty} L_{n}^{(0)}(x) t^{n}=\sum_{n=0}^{\infty} L_{n}(x) t^{n}=\frac{2-x t}{1-x t-t^{2}}
$$

Thus, the result is true for $r=0$. Assume that the result is true for $r=k$. Then,

$$
G(k)=\sum_{n=0}^{\infty} L_{n}^{(k)}(x) t^{n}=L_{0}^{(k)}(x)+L_{1}^{(k)}(x) t+L_{2}^{(k)}(x) t^{2}+L_{3}^{(k)}(x) t^{3}+\cdots
$$

For $r=k+1$, we have

$$
\begin{aligned}
G(k+1) & =\sum_{n=0}^{\infty} L_{n}^{(k+1)}(x) t^{n}=L_{0}^{(k+1)}(x)+L_{1}^{(k+1)}(x) t+L_{2}^{(k+1)}(x) t^{2}+L_{3}^{(k+1)}(x) t^{3}+\cdots \\
t G(k+1) & =L_{0}^{(k+1)}(x) t+L_{1}^{(k+1)}(x) t^{2}+L_{2}^{(k+1)}(x) t^{3}+\cdots
\end{aligned}
$$

Then, by subtracting the above equalities, we get

$$
\begin{aligned}
(1-t) G(k+1)= & L_{0}^{(k+1)}(x)+\left(L_{1}^{(k+1)}(x)-L_{0}^{(k+1)}(x)\right) t+\left(L_{2}^{(k+1)}(x)-L_{1}^{(k+1)}(x)\right) t^{2} \\
& \quad+\left(L_{3}^{(k+1)}(x)-L_{2}^{(k+1)}(x)\right) t^{3} \cdots \\
& =L_{0}^{(k)}(x)+L_{1}^{(k)}(x) t+L_{2}^{(k)}(x) t^{2}+L_{3}^{(k)}(x) t^{3}+\cdots \\
& =G(k) .
\end{aligned}
$$

This completes the proof.
Theorem 2.4. If $n \geq 1$ and $r \geq 1$, then there are the following relationships between hyper-Fibonacci and Fibonacci polynomials, and similarly between hyper-Lucas and Lucas polynomials:
(i) $F_{n}^{(r)}(x)=\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} F_{s}(x)$,
(ii) $L_{n}^{(r)}(x)=\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} L_{s}(x)$.

Proof. (i) According to the Euler-Seidel algorithm in [7], the symmetric infinite matrix with entries $a_{n}^{r}$ has the following recurrence relation:

$$
\begin{gathered}
a_{n}^{0}=a_{n}, \quad a_{0}^{n}=a^{n} \quad(n \geq 0) \\
a_{n}^{r}=a_{n}^{r-1}+a_{n-1}^{r} \quad(n \geq 1, r \geq 1)
\end{gathered}
$$

where $\left(a_{n}\right)$ and $\left(a^{n}\right)$ are two real initial sequences. Then, the entries $a_{n}^{r}$ has the following symmetric relation [6]:

$$
\begin{equation*}
a_{n}^{r}=\sum_{i=1}^{r}\binom{n+r-i-1}{n-1} a_{0}^{i}+\sum_{s=1}^{n}\binom{n+r-s-1}{r-1} a_{s}^{0} . \tag{2.1}
\end{equation*}
$$

For the values $a_{n}^{0}=F_{n+1}^{(0)}(x)=F_{n+1}(x)$ and $a_{0}^{n}=F_{1}^{(r)}(x)=1$, equation (2.1) turns into the following form:

$$
a_{n+1}^{r+1}=\sum_{i=1}^{r+1}\binom{n+r-i+1}{n}+\sum_{s=1}^{n+1}\binom{n+r-s+1}{r} F_{s+1}(x) .
$$

Then, we have

$$
\begin{aligned}
a_{n+1}^{r+1} & =\sum_{i=0}^{r}\binom{n+r-i}{n}+\sum_{s=0}^{n}\binom{n+r-s}{r} F_{s+2}(x) \\
& =\sum_{k=0}^{r}\binom{n+k}{n}+\sum_{b=0}^{n}\binom{r+b}{r} F_{n-b+2}(x),
\end{aligned}
$$

where $k=r-i$ and $b=n-s$. From the following property of the combinations [8]

$$
\sum_{t=a}^{c}\binom{t}{a}=\binom{c+1}{a+1}
$$

we have

$$
\begin{aligned}
a_{n+1}^{r+1} & =\binom{n+r+1}{n+1}+\sum_{b=0}^{n}\binom{r+b}{r} F_{n-b+2}(x) \\
& =\sum_{b=0}^{n+1}\binom{r+b}{r} F_{n-b+2}(x) .
\end{aligned}
$$

Then,

$$
a_{n-1}^{r}=F_{n}^{(r)}(x)=\sum_{b=0}^{n-1}\binom{n+b-1}{r-1} F_{n-b}(x)=\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} F_{s}(x) .
$$

(ii) The proof is similar to the proof of (i).

Theorem 2.5. If $r \geq 1$ and $n \geq 2$, then there are the following recurrence relations for the hyper-Fibonacci and hyper-Lucas polynomials
(i) $F_{n}^{(r)}(x)=x F_{n-1}^{(r)}(x)+F_{n-2}^{(r)}(x)+\binom{n+r-2}{r-1}$,
(ii) $L_{n}^{(r)}(x)=x L_{n-1}^{(r)}(x)+L_{n-2}^{(r)}(x)-x\binom{n+r-2}{r-1}+2\binom{n+r-1}{r-1}$.

Proof. (i) The proof is similar to the proof of (ii).
(ii) Considering Theorem 2.4 and equation (1.1), we get

$$
\begin{aligned}
L_{n}^{(r)}(x) & =\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} L_{s}(x) \\
& =\sum_{s=0}^{n}\binom{n+r-s-1}{r-1}\left(x L_{s-1}(x)+L_{s-2}(x)\right) \\
& =x \sum_{s=0}^{n}\binom{n+r-s-1}{r-1} L_{s-1}(x)+\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} L_{s-2}(x) \\
& =x \sum_{s=-1}^{n-1}\binom{n+r-(s+1)-1}{r-1} L_{s}(x)+\sum_{s=-2}^{n-2}\binom{n+r-(s+2)-1}{r-1} L_{s}(x) \\
& =x\left[\sum_{\sum_{s=0}^{n-1}}^{\left.\binom{n-1)+r-s-1}{r-1} L_{s}(x)+\binom{n+r-1}{r-1} L_{-1}(x)\right]} \begin{array}{rl}
n-1 \\
& +\sum_{s=0}^{n-2}\binom{(n-2)+r-s-1}{r-1} L_{s}(x)+\binom{n+r-2}{r-1} L_{-1}(x)+\binom{n+r-1}{r-1} L_{-2}(x) \\
& =x\left[L_{n-1}^{(r)}(x)+\binom{n+r-1}{r-1}(-x)\right]+\left[\begin{array}{c}
\left.L_{n-2}^{(r)}(x)+\binom{n+r-2}{n-1}(-x)+\binom{n+r-1}{r-1}\left(x^{2}+2\right)\right] \\
\end{array}\right. \\
=x L_{n-1}^{(r)}(x)+L_{n-2}^{(r)}(x)-x\binom{n+r-2}{r-1}+2\binom{n+r-1}{r-1} .
\end{array}\right.
\end{aligned}
$$

Theorem 2.6. If $n \geq 1$ and $r \geq 1$, then there are the following relationships between the hyper-Fibonacci and hyperLucas polynomials:
(i) $x F_{n}^{(r)}(x)+L_{n}^{(r)}(x)=2 F_{n+1}^{(r)}(x)$,
(ii) $x F_{n}^{(r)}(x)-L_{n}^{(r)}(x)=-2\left(F_{n-1}^{(r)}(x)+\binom{n+r-1}{r-1}\right)$.

Proof. By using Theorem 2.4, equations (1.2) and (1.3), we have
(i)

$$
\begin{aligned}
x F_{n}^{(r)}(x)+L_{n}^{(r)}(x) & =x \sum_{\substack{n=0}}^{n}\binom{n+r-s-1}{r-1} F_{s}(x)+\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} L_{s}(x) \\
& =\sum_{\substack{n=0 \\
n=0}}^{\left.n+\begin{array}{c}
r-1 \\
r-1
\end{array}\right)\left(x F_{s}(x)+L_{s}(x)\right)} \\
& =\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} 2 F_{s+1}(x) \\
& =2 \sum_{s=1}^{n+1}\binom{n+r-(s-1)-1}{r-1} F_{s}(x) \\
& =2\left(\sum_{s=0}^{n+1}\binom{(n+1)+r-s-1}{r-1} F_{s}(x)-\binom{n+r}{r-1} F_{0}(x)\right) \\
& =2 F_{n+1}^{(r)}(x),
\end{aligned}
$$

(ii)

$$
\begin{aligned}
& x F_{n}^{(r)}(x)-L_{n}^{(r)}(x)=x \sum_{s=0}^{n}\binom{n+r-s-1}{r-1} F_{s}(x)-\sum_{s=0}^{n}\binom{n+r-s-1}{r-1} L_{s}(x) \\
& =\sum_{s=0}^{n}\binom{n+r-s-1}{r-1}\left(x F_{s}(x)-L_{s}(x)\right) \\
& =\sum_{s=0}^{n}\binom{n+r-s-1}{r-1}\left(-2 F_{s-1}(x)\right) \\
& =-2 \sum_{s=-1}^{n-1}\binom{n+r-(s+1)-1}{r-1} F_{s}(x) \\
& =-2\left(\sum_{s=0}^{n-1}\binom{(n-1)+r-s-1}{r-1} F_{s}(x)+\binom{n+r-1}{r-1} F_{-1}(x)\right) \\
& =-2\left(F_{n-1}^{(r)}(x)+\binom{n+r-1}{r-1}\right) \text {. }
\end{aligned}
$$

Theorem 2.7. If $n \geq 1$ and $r \geq 1$, then the summation formulas
(i) $\sum_{s=0}^{r} F_{n}^{(s)}(x)=F_{n+1}^{(r)}(x)+(1-x) F_{n}(x)-F_{n-1}(x)$,
(ii) $\sum_{s=0}^{r} L_{n}^{(s)}(x)=L_{n+1}^{(r)}(x)+(1-x) L_{n}(x)-L_{n-1}(x)$
are valid.
Proof. (i) By using Theorem 2.4, we have

$$
\begin{aligned}
\sum_{s=1}^{r} F_{n}^{(s)}(x) & =\sum_{s=1}^{r}\left(\sum_{t=0}^{n}\binom{n+s-t-1}{s-1} F_{t}(x)\right) \\
& =\sum_{t=0}^{n}\left(\begin{array}{c}
r \\
\left.F_{t}(x) \sum_{s=1}^{r}\binom{n+s-t-1}{s-1}\right) \\
\end{array}=\sum_{\substack{t=0 \\
n}}\binom{n+r-t}{r-1} F_{t}(x)\right. \\
& =\sum_{t=0}^{n+1}\binom{(n+1)+r-t-1}{r-1} F_{t}(x)-F_{n+1}(x) \\
& =F_{n+1}^{(r)}(x)-F_{n+1}(x) .
\end{aligned}
$$

Thus,

$$
\begin{aligned}
\sum_{s=0}^{r} F_{n}^{(s)}(x) & =F_{n}^{(0)}(x)+\sum_{s=1}^{r} F_{n}^{(s)}(x) \\
& =F_{n}^{(0)}(x)+F_{n+1}^{(r)}(x)-F_{n+1}(x) \\
& =F_{n}(x)+F_{n+1}^{(r)}(x)-x F_{n}(x)-F_{n-1}(x) \\
& =F_{n+1}^{(r)}(x)+(1-x) F_{n}(x)-F_{n-1}(x) .
\end{aligned}
$$

(ii) The proof is similar to the proof of (i).

## Conflicts of Interest

The author declares that there are no conflicts of interest regarding the publication of this article.

## Authors Contribution Statement

Author have read and agreed to the published version of the manuscript.

## References

[1] Bahşi, M., Mező, I., Solak S., A symmetric algorithm for hyper-Fibonacci and hyper-Lucas numbers, Annales Mathematicae et Informaticae, 43(2014), 19-27
[2] Bicknell, M., A primer for the Fibonacci numbers VII, The Fibonacci Quarterly, 8(4)(1970), 407-420.
[3] Bicknell, M., Hoggatt, Jr.V.E., Roots of Fibonacci Polynomials, The Fibonacci Quarterly, 11(5)(1973), 271-274.
[4] Catarino, P., A note on $h(x)$ - Fibonacci quaternion polynomials, Chaos, Solitons and Fractals, 77(2015), 1-5.
[5] Catarino, P., The $h(x)$ - Fibonacci quaternion polynomials: some combinatorial properties, Advances in Applied Clifford Algebras, 26(2016), 71-79.
[6] Dil, A., Mező, I., A symmetric algorithm hyperharmonic and Fibonacci numbers, Applied Mathematics and Computation, 206(2008), 942-951.
[7] Dumont, D., Euler-Seidel matrices (Matrices d'Euler-Seidel), Séminaire Lotharingien de Combinatoire [electronic only], (1981), B05c-25.
[8] Graham, R.L., Knuth, D.E., Patashnik, O., Concrete Mathematics, Addison Wesley, Reading, MA., 1993.
[9] Horzum, T., Koçer, E.G., On some properties of Horadam polynomials, International Mathematical Forum, 4(25) (2009), $1243-1252$.
[10] Kilic, E., Tasci, D., Negatively subscripted Fibonacci and Lucas numbers and their complex factorizations, Ars Combinatoria, 96(2010), 275-288
[11] Kızılateş, C., A note on Horadam hybrinomials, Fundamental Journal of Mathematics and Applications, 5(1)(2022), 1-9.
[12] Koshy, T., Fibonacci and Lucas Numbers with Applications, Pure and Applied Mathematics, A Wiley-Interscience Series of Texts, Monographs, and Tracts, New York: Wiley, 2001.
[13] Özdemir, G.,Şimşek, Y., Generating functions for two variable polynomials related to a family of Fibonacci type polynomials and numbers, Filomat, 30(4)(2016), 969-975.
[14] Özkan, E., Altun, İ., Generalized Lucas polynomials and relationships between the Fibonacci polynomials and Lucas polynomials, Communications in Algebra, 47(10)(2019), 4020-4030.
[15] Soykan, Y., On generalized Fibonacci polynomials: Horadam polynomials, Earthline Journal of Mathematical Sciences, 11(1)(2023), $23-114$.
[16] Szynal-Liana, A., Wloch, I., Generalized Fibonacci-Pell hybrinomials, Online Journal of Analytic Combinatorics, 15(2020), 1-12.
[17] Szynal-Liana, A.,Wloch, I., Introduction to Fibonacci and Lucas hybrinomials, Complex Variables and Elliptic Equations, 65(10)(2020), 1736-1747.
[18] Webb, W.A., Parberry, E.A., Divisibility properties of Fibonacci polynomials, The Fibonacci Quarterly, 7(5)(1969), 457-463.
[19] Yuan, Y., Zhang, W., Some identities involving the Fibonacci polynomials, The Fibonacci Quarterly, 40(4)(2002), 314-318.


[^0]:    Email address: efruzmersin@aksaray.edu.tr (E.Ö. Mersin)
    This paper is the extended form of the talk entitled "Hyper-Fibonacci and Hyper-Lucas Polynomials" presented in the " 5 th International E-Conference on Mathematical Advances and Applications" (ICOMAA 2022) at Yildiz Technical University, Istanbul Turkey, 11-14 May 2022.

